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QUESTION 1

A DBA needs to create a federated database and configure access to join data from three Oracle instances and one
DB2 database. Which objects are needed to establish the specified connections?

A. 1 Oracle server , 1 DB2 server , 3 Oracle wrappers , and nicknames for each database

B. 1 Oracle server, 1 DB2 server , 1 Oracle wrapper , 1 DB2 wrapper , and nicknames for each database
C. 3 Oracle servers , 1 DB2 server , 3 Oracle wrappers , 1 DB2 wrapper , and nicknames for each database
D. 3 Oracle servers, 1 DB2 server , 1 Oracle wrapper , 1 DB2 wrapper , and nicknames for each database

Correct Answer: D

QUESTION 2

If instance DB2INST1 is created and its authentication type is set to KRB_SERVER_ENCRYPT, which statement is
true?

A. Databases created in DB2INST1 will use SERVER_ENCRYPT authentication if KERBEROS authentication is not
available.

B. Databases created in DB2INST1 will use KERBEROS authentication if SERVER_ENCRYPT authentication is not
available.

C. Client connections to databases on DB2INST1 will fail unless they are attempted through an LDAP connection.
D. Client connections from Windows machines to databases on DB2INST1 will flow clear text passwords.

Correct Answer: A

QUESTION 3

Given the following table spaces, their associated page size, and number of pages:

TSP1 - 16K fage size, 10000 pages
TaP2 - 8K fage size, 10000 pages
T5P3 - 4K fage size, 20000 pages

USERSPACE1 - 4K page size, 5000 pages

Which sets of buffer pools will ensure that all of the data in the table spaces will be fit into memory for optimal data
access?

A. IBMDEFAULTBP - 16K page size, 85000 pages
B. IBMDEFAULTBP - 4K page size, 25000 pagesBP1 -16K page size, 20000 pages

C. BP1 - page size 8K, 45000 pages
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D. BP1 - 4K page size, 30000 pagesBP2 - 8K page size, 20000 pagesBP3 - 16K page size, 15000 pages

Correct Answer: D

QUESTION 4

A user with Security Administrator (SECADM) authority executes the following statements:

CREATE SECURITY _ABEL COMPONENT s_comp SE- {'CONFIDENTIAL', 'UNCLASSIFIED'},
CREATE SECURITY 20LICY 5_policy COMPONENTS s_comp WITH DBEZLBACREULES,

CREATE SECURITY _ABEL s_policy.c COMPOMENT s_comp 'CONFIDENTIAL', "UNCLASSIFIED,
CREATE SECURITY _ABEL 5_policy.L COMPOMENT s_comp "UNCLASSIFIED,

GRANT SECURITY LABEL s_policy.c TO USER user1 FOR ALL ACCESS,

GRANT SECURITY LABEL 5_policy.u TO USER user? FOR READ ACCESS;

Mext, a user with database administrator (DBADM) authoriy executes the following statements:
CREATE TABLE s tab1 (coll CHAR(20), label DB25ECURITYLABEL)
SECURITY POLICY s_palicy,

GRANT ALL PRMWILESES ON TABLE s.tab1 TO usert;
GRANT ALL PRMVILESES OM TABLE s.tab1 TO user2;

LUSER1 executes the following statements:
INSERT INTO s.tab1 WALUES('New York!, SECLABEL{"S_FPOLICY!, '"COMFIDEMTIAL'YY;
INSERT INTO s.tab1 coll) WALUES{'Chicago'),

INSERT INTO s.tabl1 ¥ALUES("San Francisco', SECLABEL{'S_FPOLICY!, UNCLASSIFIED'),
INSERT INTO s.tab1 ¥ALUES('Dallas', sSECLABEL('Ss FOLICY!, '"UNCLASSIFIED')),

If user USER2 queries the table S.TAB1, how many rows will be returned?
A.0
B.1
C.2
D.3

Correct Answer: C

QUESTION 5

If the shared sort heap threshold parameter SHEAPTHRES_SHR is set to AUTOMATIC, what will happen?
A. All sorts will be done in a temporary table space.

B. The shared sort memory allocation will be controlled by DB2.

C. No shared memory is allocated for sorting.
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D. All sorts will be done in shared memory.

Correct Answer: B
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